i Lt Hr my | Bin name Expected signal T1tttt mg /m o [TeV] Predicted Observed

[GeV] [GeV] (1.5,0.1) (1.2,0.8) background

=1 | LT1, HTO, NB1 < 0.01 041 =+ 0.02 9.0 + 21 9

[500,750] | =2 | LT1, HTO, NB2 < 0.01 067 £ 0.03 84 £+ 21 2

[250, 350] >3 | LT1, HTO, NB3i < 0.01 067 £ 0.03 123 £ 0.39 1

! =1 | LT1, HT1i, NB1 003 + 0.00| 015 £ 0.01 9.8 + 3.0 14

>750 =2 | LT1, HT1i, NB2 007 £+ 0.00| 027 £ 0.02 71 £ 27 6

>3 | LT1,HT1i,NB3i | 007 £+ 000 | 022 £ 0.02 |08 =+ 040 1

= LT2, HTO, NB1 < 0.01 019 £ 002 |242 £ 096 4

[500,750] | =2 | LT2, HTO, NB2 001 + 0.00| 028 £ 002 |08 £ 056 2

350, 450] >3 | LT2, HTO, NB3i 001 £+ 000| 024 £ 0.02 |010 =+ 0.08 0

[6, 8] ! =1 | LT2, HT1i, NB1 008 £ 000| 016 £ 0.01 36 = 18 5

! >750 =2 | LT2, HT1i, NB2 012 + 0.01 024 £+ 0.02 38 + 19 2

>3 | LT2,HT1i,NB3i | 0.13 + 0.01 019 £+ 0.01 054 £ 035 0

500, 1250] =1 | LT3, HTO01, NBl. 007 £ 000| 018 £ 0.02 41 =+ 16 1

[450, 600] >2 | LT3, HTO.l, NB2i | 019 =+ 0.01 042 =+ 0.02 40 +£ 21 0

! >1250 =1 | LT3, HT2i, NB1 008 + 0.00| 002 £ 000 |062 £ 0.69 1

- >2 | LT3,HT2i,NB2i | 029 £ 0.01 008 £ 0.01 059 £ 0.66 1

500, 1250] =1 LT4%, HTO1, NBl. 018 + 0.01 005 £ 0.01 060 £ 051 0

>600 ! >2 LT4%, HTO'l, NB2i | 057 £ 0.01 016 £+ 0.01 025 £+ 0.39 0

- ~1250 =1 | LT4i, HT2i, NB1 | 026 + 0.01 007 £ 0.01 020 £+ 027 0

- >2 | LT4i, HT2i,NB2i | 095 + 0.02| 016 =+ 0.01 042 £ 0.53 0

500, 1250] | ~ 1| LT1,HTO1,NB1 |0.01 <+ 000| 022 £ 002 |052 <+ 0.19 0

’ = LT1,HTO1,NB2 | 001 £+ 000| 055 + 0.03 |023 =+ 0.14 0

[250, 350] >500 >3 | LT1, HT0i, NB3i | 008 + 0.00| 074 £ 003 |032 £ 0.16 0

~1250 =1 | LT1, HT2i, NB1 002 £+ 000| 002 £ 0.01 017 £ 0.16 0

>9 - = LT1, HT2i, NB2 004 =+ 0.00| 005 =+ 001 024 £ 031 0

- =1 | LT2, HT0i, NB1 004 + 000| 023 £ 002 |028 =+ 0.14 0

[350, 450] >500 =2 | LT2, HT0i, NB2 010 =+ 0.01 041 £ 002 |005 £ 0.06 1

>3 | LT2, HTO0i, NB3i | 0.12 £ 0.01 051 £ 002 |004 £ 0.05 0

> 450 ~500 =1 | LT3i, HT0i, NB1 | 029 £ 0.01 023 £+ 002 031 £ 020 0

- - >2 | LT3i, HT0i, NB2i | 142 + 0.02| 099 £ 003 |015 £ 0.13 0




